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Documento wxMaxima

linsolve([A+B=M,A-B=N],[A,B1);

[A_ N+ g M—N]
2 2

M:matrix([3,3],[1,331); N:matrix([1,-13,[-1,31D;
ERE
ll 3

A:(1/2) - (M+N);
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(1 3
-1 7) WXO ‘EBAMUEM
AAD
L b Wk iAn g
~_ K
0 9) A =
BAAZ






1insolve([ll=a+c—3-d,—2=b+2- +d,—7=2-a+b+4-d,1= bg [ b,c,d1)y

[a=2,b=1,c=0,d= 3]
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Documento wxMaxima

FOx, ¥ i=[x+y,5-y,-2-x];
FCx,y)i=[ x+y,5y,(~2) x]
A:jacobian(f(x,y),[x,y1);

g(x,y,2):=[3-x-y+z];
a(x,y,2):=[3 x-y+z]
B:jacobian(g(x,y,2),[x,y,21);
(-1 1)
f(3,2);
[5,10,-6]
g(5,10,-6);
[-1]

¢ -
g(x+y,5+y,(=2)-x);
[3(y+x)—5y—2x]
expand(%);
[x-2y]
jacobian(g(x+y,5+y,(-2)-x),[x,¥1);

)

B.A;
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Documento wxMaxima

ul:[3,0,0,4];

[3,0,0,4]
u2:[—4,sqrt(12),sqrt(12),3];

[-4,2-/3,2A/3,3]
v:[0,1,0,0];

[0,1,0,0]
ul.u2;

0
load(eigen);
/Usr/local/(ellar/Maxima/5.46.@_3/Share/Maxima/5.46.Q/Share/Matrix/éigen.mac
A:matrixCul,u2);

3 ) 0 4
-4 2-[3' 243" 3
gramschmidt(A);

[[3,0,0,4],[-22,2\1?,2\1?,3]]
el:[3,0,0,4];

[3,0,0,4]
e2:[—2A2,2-sqrt(3),2-sqrt(3),3];

[-4,23",2+/3,3]
u:(v.el)/(el.el)-e1+(v.e2)/(e2.e2)-e2;

3/2
gaJ3' 12 12 23
»

49 20 ~ 49 49

(v=u).ul;

(v=u).uZ;
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Documanto wsMartma

eliminate([x=2-o,y=3-b,z=2-a+b,t=a],[a,b]);
[-2(3z-y-3x),x-2 t]
linsolve([x=0,y—3-z=0],[x,y]);
[x=0,y=3 z]
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A:matrix([S,O,@],[0,4,—1],[0,1,2]);

30 o

0 4 -1

e 1 2
load(eigen);
/Usr/local/(ellar/Maxima/5.46.0_3/$hare/MGxima/5.46.@/share/hatrix/éigen.mac
PC:charpoly(A,m);

((2—m)(4—m)+1)(3—m)

expand(PC);

3 2
-m +9m =27 m+27

factor(PQ);

3
-(m-3)
eigenvalues(A);
[[31,031]

eigenvectors(A);

[[[3],[3]],[[[1,@,@],[0,1,1]]]]
load(diag);
/Usr/local/(ellar/haxima/5.46.Q_3/3hare/haxima/5.46.@/Share/tontrib/diag.mac
j:JjordanCA);

[[3,2,11]
dispJordan(j);

31 0
@ 3 0
0 0 3
P:ModeMatrix(A, j);
@ 0 1
1 1 9
1 0 o
invert(P);
0 o 1
1 -1
10 o
invert(P).A.P;
3 1 0
e 3 @

0 0 3
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